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QUESTION - 1 

Who appoints the chairperson of the 

National Monuments Authority? 

[A] President 

[B] Vice President 

[C] Prime Minister 

[D] Chief Justice

राçĚȣय èमारक Ĥाͬधकरण के चयेरपस[न 
को कौन ǓनयÈुत करता है? 

[A] राçĚपǓत
[B] उपराçĚपǓत
[C] Ĥधानमंğी
[D] मÉुय Ûयायाधीश 



QUESTION - 2 

Where is Raj Pithora fort built by 

Tomar Rajputs? 

[A] Gwalior 

[B] Agra 

[C] New Delhi 

[D] Agartala

तोमर राजपूतɉ ɮवारा बनवाया गया ͩकला 
राज ͪपथौरा कहाँ है? 

[A] Êवाͧलयर 

[B] आगरा 

[C] नई Ǒदãलȣ 

[D] अगरतला



QUESTION - 3 

The ancestor of man who first walked 

upright on two legs? 

[A] Javanese human 

[B] Australopithecus 

[C] Peking Human 

[D] none of these

मानव का वह पूव[ज जो सबसे पहले दो 
पैरɉ पर सीधा होकर चला? 

[A] जावा कͪप मानव
[B] ऑèĚैलोͪपथेकस
[C] पेͩकंग मानव
[D] इनमɅ से कोई नहȣ 



QUESTION - 4 

What is an example of an aerosol? 

[A] Milk 

[B] river water 

[C] smoke 

[D] Blood

ऐरोसॉल का उदाहरण है? 

[A] दधू
[B] नदȣ का जल
[C] धुआँ
[D] ǽͬधर 



QUESTION - 5 

Which gas in the atmosphere absorbs 

ultraviolet rays? 

[A] Ozone 

[B] Methane 

[C] Nitrogen 

[D] Helium

वायुमÖडल मɅ कौनसी गैस, पराबɇगनी 
ͩकरणɉ का अवशोषण कर लेती है? 

[A] ओजोन
[B] मीथेन
[C] नाइĚोजन
[D] हȣͧलयम 



QUESTION - 6 

Which of the following schemes have been 

included in the recently approved Ayushman

Bharat – National Health Protection Mission 

(AB-NHPM)? 

[A] National Health Insurance Scheme 

[B] Senior Citizen Health Insurance Scheme 

[C] National Life Insurance Scheme 

[D] 1 & 2

हाल हȣ मɅ अनुमोǑदत आयुषमान भारत –

राçĚȣय èवाèØय संर¢ण ͧमशन (AB-NHPM) मɅ 
Ǔनàनͧलͨखत मɅ से कौन सी योजनाएं 
सिàमͧलत हुई हɇ? 

[A] राçĚȣय èवाèØय बीमा योजना
[B] वǐरçठ नागǐरक èवाèØय बीमा योजना
[C] राçĚȣय जीवन बीमा योजना
[D] 1 & 2



QUESTION - 7 

Which of the following price indices of 

India is considered to measure 'headline 

inflation'? 

[A] GDP Deflator 

[B] CPI-AL/RL 

[C] CPI-IW 

[D] WPI

हेडलाइन मġुाèफȧǓत’ को मापने के ͧलए 
भारत के Ǔनàनͧलͨखत मãूय सूचकांकɉ मɅ 
से कौन सा माना जाता है? 

[A] GDP Deflator

[B] CPI-AL/RL

[C] CPI-IW

[D] WPI



QUESTION - 8 

To which dynasty does the bronze 

statue of Nataraja belong? 

[A] Chola

[B] Cher 

[C] Pandya

[D] Rashtrakuta

नटराज कȧ काèंय मǓूत[ ͩकस वंश से 
संबंͬधत है? 

[A] चोल
[B] चेर
[C] पांɬय
[D] राçĚकूट 



QUESTION - 9 

Amoghavarsha belonged to which 

dynasty? 

[A] Rashtrakuta

[B] Chola

[C] Cher 

[D] Pandya

अमोघवष[ ͩकस वंश से संबंͬधत था? 

[A] राçĚकूट
[B] चोल
[C] चेर
[D] पाɬंय 



QUESTION - 10 

Which of the following disease shortens 

the lifespan of coal miners and that disease 

is called black lung disease? 

[A] Pneumoconiosis 

[B] Progressive giant fibrosis 

[C] Mesothelioma 

[D] none of these

Ǔनàनͧलͨखत मɅ कौन सी बीमारȣ से कोयले 
कȧ खान मɅ काम करने वाले मजदरूɉ कȧ उĨ 
कम हो जाती है और उस बीमारȣ को Þलैक 
लंÊस बीमारȣ कहा जाता है? 

[A] ÈलोमगोलाणुǽÊणता
[B] ĤगǓतशील ͪवशाल फाइĦोͧसस
[C] मेसोथेͧलयोमा
[D] इनमɅ से कोई नहȣं 



QUESTION - 11 

Which award is given to the person who 

shows indomitable courage in the field of 

wildlife conservation? 

[A] Indira Gandhi Environment Award 

[B] Medini Rewards Scheme 

[C] Amrita Devi Bishnoi Award 

[D] Pitamber Pant National Award

वÛयजीव संर¢ण के ¢ेğ मɅ अदàय साहस 

Ǒदखाने वाले को कौन सा पुरèकार Ǒदया 

जाता है? 

[A] इंǑदरा गांधी पया[वरण पुरèकार

[B] मेǑदनी पुरèकार योजना

[C] अमतृा देवी ǒबæनोई पुरèकार

[D] पीताàबर पंत राçĚȣय पुरèकार 



QUESTION - 12 

Which two countries does the Strait of 

Gibraltar separate? 

[A] Portugal and Morocco 

[B] Algeria and Spain 

[C] Morocco and Spain 

[D] Algeria and Portugal

िजĦाãटर जलडमǾमÚय ͩकन दो देशɉ को 
अलग करता है? 

[A] पुत[गाल और मोरÈको
[B] अãजीǐरया और èपेन
[C] मोरÈको और èपेन
[D] अãजीǐरया और पुत[गाल 



QUESTION - 13 

In which region is the natural fertilizer 

called guano found? 

[A] Tierra del Fuego 

[B] Atacama Desert 

[C] Minas Gerais of Brazil 

[D] Coastal region of Peru

गुआनो नामक ĤाकृǓतक उव[रक ͩकस ¢ेğ 
मɅ पाया जाता है? 

[A] Ǔतएरा देल फयूगो
[B] अटाकामा मǽèथल
[C] Ħाज़ील का मीनास गेǐरअस
[D] पेǾ का तटȣय ¢ेğ 



QUESTION - 14 

What are the consequences of deforestation? 

1.Increase in soil erosion 

2. Ground water storage 

3. Flash flood 

[A] 1 only 

[B] 1 and 2 

[C] 1 and 3 

[D] 1, 2 and 3

वन कटाव के पǐरणाम Èया होते हɇ?
1. मदृा अपरदन मɅ वɮृͬध 
2. भूͧ मगत जल का भÖडारण 
3. आकिèमक बाढ़  

[A] केवल 1
[B] 1 और 2
[C] 1 और 3
[D] 1, 2 और 3 



QUESTION - 15 

Who used the Carthage system in the 

context of maritime trade? 

[A] Dutch 

[B] French

[C] English

[D] Portuguese

समġुȣ åयापार के सÛदभ[ मɅ काता[ज़ 
åयवèथा का उपयोग ͩकसके ɮवारा ͩकया 
जाता था? 

[A] डच
[B] ŉांͧ ससी
[C] अंĒेज़
[D] पुत[गालȣ 



QUESTION - 16 

Which of the following statements about Surendranath

Banerjee is not correct? 

[A] He was the co-founder of the Indian National 

Association 

[B] He was the founder of Ripon College, Calcutta 

[C] He is known for the concept of national 

consciousness 

[D] He along with Anandamohan Bose founded the 

ordinary Brahmo Samaj

सुरेġनाथ बनजȸ के बारे मɅ Ǔनàनͧलͨखत मɅ कौन सा 
कथन सहȣ नहȣं है? 

[A] वे इंͫडयन नेशनल एसोͧसएशन के सह-सèंथापक 
थे
[B] वे कलकƣा के ǐरपन कॉलेज के सèंथापक थे
[C] उÛहɅ राçĚȣय चेतना के कांसेÜट के ͧलए जाना 
जाता है
[D] उÛहɉने आनदंमोहन बोस के साथ ͧमलकर 
साधारण Ħéमो समाज कȧ èथापना कȧ



QUESTION - 17 

In protest against which incident did 

Rabindranath Tagore return the title of 

knighthood during the freedom movement? 

[A] Partition of Bengal 

[B] Jallianwala Bagh massacre 

[C] Death sentence to Bhagat Singh, Rajguru

and Sukhdev

[D] none of the above

èवतğंता आÛदोलन के दौरान रǒबÛġनाथ टैगोर ने 

नाइटहुड कȧ उपाͬध ͩकस घटना के ͪवरोध मɅ 

वापस कर दȣ थी? 

[A] बंगाल ͪवभाजन

[B] जͧलयांवाला बाग़ ह×याकांड

[C] भगत ͧसहं, राजगǽु और सुखदेव को म×ृयुदंड

[D] उपरोÈत मɅ से कोई नहȣं 



QUESTION - 18 

In order to serve as the Chief Justice of the 

Supreme Court, a person must serve at least 

for how many years in the High Court? 

[A] 10 years 

[B] 12 years 

[C] 15 years 

[D] 20 years

सुĤीम कोट[ के मÉुय Ûयायाधीश के Ǿप मɅ काय[ 
करने के ͧलए åयिÈत को उÍच Ûयायालय मɅ कम 
से कम ͩकतने वष[ तक काय[ करना चाǑहये? 

[A] 10 वष[
[B] 12 वष[
[C] 15 वष[
[D] 20 वष[ 



QUESTION - 19 

By which amendment of the Constitution 

of Delhi was made NCT (National Capital 

Territory)?

[A] 63rd Amendment 

[B] 69th Amendment 

[C] 74th Amendment 

[D] 76th Amendment

Ǒदãलȣ को NCT (राçĚȣय राजधानी Ĥदेश) 

संͪवधान के ͩकस संशोधन से बनाया गया? 

[A] 63 वां संशोधन

[B] 69 वां संशोधन

[C] 74 वां संशोधन

[D] 76 वां संशोधन 



QUESTION - 20 

What is the reduction of snow due to 

glacier melting, evaporation and 

avalanches called? 

[A] Erosion 

[B] Galing

[C] creep 

[D] Plucking

Êलेͧशयर से ͪपघलने, वाçपीकरण और 
Ǒहमèखलन के कारण बफ[  कम होने को 
Èया कहा जाता है? 

[A] अप¢रण
[B] गͧलगं
[C] Đȧप
[D] Üलͩकंग 



QUESTION - 21 

Which of the following term is not used 

for glacier deposit? 

[A] Moren

[B] Drumlins 

[C] Kettle 

[D] Scarry

Êलेͧशयर Ǔन¢ेप के ͧलए Ǔनàनͧलͨखत मɅ 
से कौन सा शÞद Ĥयोग नहȣं ͩकया जाता? 

[A] मोरेन
[B] ĜमͧलÛस
[C] केटल
[D] èकेरȹ 



QUESTION - 22 

Dampier-Hodges line is related to 

which of the following? 

[A] Gulf of Khambat

[B] Palk Strait 

[C] Andaman and Nicobar Islands 

[D] Sundarbans

डिेàपएर-होजेस रेखा Ǔनàनͧलͨखत मɅ से 
ͩकससे सàबंͬधत है? 

[A] खàबात कȧ खाड़ी
[B] पãक जलडमǾमÚय
[C] अंदमान व Ǔनकोबार ɮवीप समहू
[D] सुंदरबन 



QUESTION - 23 

Pay attention to the following:-

1- Badminton 

2- Bowling 

3- Golf 

4- Table Tennis 

Which of these games are played at the 
Singapore Open?

[A] 1 only 

[B] 1 and 2 only 

[C] 1, 2 and 3 

[D] 1, 2 ,3 ,4

Ǔनàनͧलͨखत पर Úयान दȣिजए:-
1- बैडͧमटंन
2- बोͧलगं
3- गोãफ
4- टेबल टेǓनस
इनमɅ से कौन से खेल ͧसगंापुर ओपन मɅ होत ेहɇ? 

[A] केवल 1
[B] केवल 1 और 2
[C] 1, 2 और 3
[D] 1, 2 ,3 ,4



QUESTION - 24 

What does the Olympic symbol mean? 

[A] urge to play 

[B] Challenge 

[C] Continuity 

[D] Integrity

ओͧलंͪ पक ͬचéन का Èया अथ[ है? 

[A] खेलने कȧ ललक
[B] चैलेÛज
[C] Ǔनरंतरता
[D] अखंडता 



QUESTION - 25 

Pay attention to the following statements:-

1- Indicative planning is a feature of 'mixed economy'. 

2- Perspective planning is used by socialist countries 

where every aspect of the plan is controlled by the state.

Which of these statements is/are true

[A] 1 only 

[B] 2 only

[C] Both 1 and 2 

[D] none

Ǔनàनͧलͨखत कथनɉ पर Úयान दȣिजए:-
1- संकेतक योजना ‘ͧमͬĮत अथ[åयवèथा’ कȧ एक 
ͪवशेषता है।
2- पǐरĤेêय योजना समाजवादȣ देशɉ ɮवारा उपयोग कȧ 
जाती है जहां योजना के Ĥ×येक पहलू को राÏय ɮवारा 
Ǔनयंǒğत ͩकया जाता है।
इनमɅ कौन सा/ से कथन स×य हɇ? 

[A] केवल 1
[B] केवल 2
[C] 1 और 2 दोनɉ
[D] कोई भी नहȣं 
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